A*ﬂs(zom)ﬁlﬁ

IR

MEFATIIRER oEEH

-RER

A DT : TBsRE S (XFEBERR (h) REZTRA. KEFT1RFHORETRASIZAN,

BHEEKS® W LS

-2 ﬂiﬁfﬂ ] _ THBBISTIZEAD TERETIARICEARASBISIOIEAN, EEBITE IISEHEOHAZERE -
AT | EZ5] | 5 A | it | EZ5] I E] 6 A | &tiE | EZ5] I B 78 | iE | EE | B 8 A | &tE i IE] oA [ 8 i 2
E : 4= =) 1* 1* *'EI_E s 4= =) o 1* 1* *"’ & 4= =) 1* 1* *% & 4= =) o 1* 1* *g B = =) o= 1* 1* *g B = ih ot 2
g le HEEITE | ERITEE g le ;f;] = g—*; Y HEEITE | ERITEE g le ;?é = ;—*; E j( HEEITE | ERITEE gl ;?é = ;?; Y EEENITE | ERITEE ale B?é = B?r =|x IEETE | ERITESE 8| = ;?é = ;?% Y IEETE | ERITESE
= “lalTlels = lgl" TlalTlels Big|F el laltlels
T1Al3 weanzxmaza] [ 1 | K] 2 2 [EA B 3 waaeram| | 1 | A 1 1 IEREEE | ERES 1 1 118 1 1
2 [ k] 3 sa-zanae]| 2 [ &] 2 2 28] 7 8 P AT ILEFHE 2 [a]2 2 e | IHEIE 3 2 [ Al 2 2
3 |7l sx-gaTae] | 3 [ £ 1 1 FiRELEH 318 1 1 srLuaEso] [ 3 [ k]2 2 e 3£ 113 F—F2 2= [ 3 [ X 1|2 EES
4 | K 4| £] 2 3 HEYDH 41 K] 2 2 = 4 [ K] 2 2 4 H]3 1 4 [ K] 2 2 — B xR
5|2 5| H 1 1 ZXo1H | IER P 2 2045601 5 | & 1|2 5 | A3 3 AES KL 8 ol Ex X |
6 | £ 6 [A] 2 3 REXE 6 | A 2 1 =zoasFwa| | 6 [ £] 3 3 6 | x]3 1 6 |&] 10 8 BHA
71H AP 2 11® 1]2 el | AN 1 1 71K 1]8 &7 |emxmzemza] | 7 [ X£] 10 8 XN
8 [ A 8 | K] 2 2 s [£] 3 3 s A]2 2 8 [ x]3 8 R g [A]10 8 22T A
P e | IERES 1] 2 AIERE 9| H 1 1 9 | & 1] 2 9 [£]3 8 &18 9 1A 1 1
7 ez gEE] [ 0] £ 2 8 O] XX 10[A] 3 3 PTARREARR] | 10 [ k] 2 2 B ESIINEAE 1 10f k] 2 2
EN smz-mas [ [ X110 8 O Hhx#MA [REwaE] 11| k] 2 2 JEEEEEES [HES K 5 €@ I 1] 3]3 3 [IpY= 11 k] 2 2 SEEBRHTE]
% 12| B[ 10 1 R e | 12 K] 2 2 12| &7 1 sacoonzeszaman] | 12 | B 1|3 REKA 12| K| 2 2
S 13[ 8 ]2 13 K 1 1 13|17 1 13 & 1 1 BA#X B 13| & 1 1 ERBER
H 141 k] 2 2 14| €] 2 2 14| 8B 1 1 14 | K 1 1 BAE B 14| X] 3 3 HEIFAKRR )
A EBEEEL 15 | 7] 1 1 sumzowexgmen] | 15 | £ | 3 3 15| A3 3 EDH 15| K 1 1 =] 15| A 1 1 X IHoLe02%E)
X EEES10 | R RN 2 EmEs 16| B 1 1 111 swmn —wasa] | 16 | & 1 1 16| A 1 1 HEOR-HBRAIL
7 axasmo swuna | 17 | & | 2 2 pTAaEmEs=| 7 AL 2 2 Erma= |17 k]2 2 [ | EHEA E 1 17 k] 2 2
X 18] £ 3 3 [P 2 it | IHEI R 1 18] A3 3 18| K] 2 2
& 19| B 1 1 19| K] 2 2 1922 2 HEERE 19| B3 3 EFnEzA= 1) 19| A1 2 1
ES 2081 2 2 EEE s 1 1 —FExBA 20| £]3 3 20 | & 1 1 BE S5 20| & 1]2 AERE
=] 112 —HExA || 21| £ 1 1 AERmREl | 21 [ A 1 1 3 3 —ZFHERB |21 £] 3 3 RHFAAR(E)
JZ] wir@- sl | 22 | 7 2 2 22| X1 3 3 221 B2 2 wxtamssssen] [ 22 | K| 2 2 mEx BErAN 122 | H 1 1
Pa szoasiTaval | 23 [ K[ 2 2 BERE 23| B] 10 8 O | E A Hh X 5% 23| X3 3 seammaE~120l [ 23] £ 2 1 [ a0 231 A1 3 3 [ AN O)=]
K e | FAEI 2 24| A 1 1 24 | K]|3 3 semmma~12o) [ 24 | £]3 3 24 | K 1 1 BESE
[ 2 | —=EkAe |25 | £ 1 1 25 | X 1 1 25 | K 1 1 semmaE~20) | 25 | B 1 1 1 1 —FEKH
% 26 [ B 2 2 26 | 7k 1 1 26| £]3 3 semmaE~1o| | 26 | B | 2 2 26 | K 1 i
3 PTARRS 27| A 10 8 [CENES 27| K 1 1 B | FAEA B 3 271 k]2 2 21| £ 1 1
B 28 | k] 10 8 B& 28| £ 1 1 s | NG 1 1 28 | k]2 2 28| & 1 1
A RAFI0 B 29 | K] 10 8 o|__B#&i 29 | £ 1 1 20| Bl 6 3 29 [ & 1 1 29| H 1 1
Pq 30| K] 10 8 @ IEERES 30| H 1 1 30 k|6 3 30[£]2 2 30| B 1 1
31| & 1 1 BB (A1) 31| k|3 3 31[+]3 3 | |
ETE S EHE ES EHE S EHE EST EHE EST E =&
CHHREE 5 5 6 3 CHEEHEEE 0 i0 WHREHT S 4 CEHEREHTTY ) FEHAREH 10 ]
WEREEH TS 3 3 g KEREE 4 g WEREH 4 5 WEREH: 7 g KEREH S 5
SEH AR 2.0 73 39 36 RS 2.1 PA FHEMSETE; 3.3 75 TR 9.5 38 FHEDEIES] 35 3
RE SRR TR 4.4 4.0 REERBE R 5.4 4.0 REEBBETEE 4.8 47 REEHEETET 4.0 3.0 RERBHHETE: 3.0 30 KEEBERTE 6.5 55
108 | &#&E | =& |8 nAa | &#E | =&E|B 128 | #E | & |B 18 |&&E | =& |E 2 | stE| =& |8 3R | &tE | =& |8
cid cid vl vl i) i)
Y P e e B w | 5| E| 5| #ames | 2rass w ||| E| E| Emes | 2rass o | | | K| | mmes | euemes o o [ E| | smmers | ererss w | *| e | E| £ samens | 2rnss
E”FﬁéﬁﬁA A (g FE]%,;E]%A EIHEEHEFEIEA EIEEHEFE]%A EIEEFﬁEF.i%A EIHEFﬁéﬁiA ERKER
A E A E = A A E = A E A H = B E A E = B E =] El = B El =] El =
T X 1 1 > 2B TmEE| B 118 1 1 [HE 1 T [HEA E [EA K ST
2 |7 1 1 L Biabiiikale BEuA@mll 2 | B 1 1 R | IFAES 1 EAR B 2| H]3 21 H]| 3
AEIWE W H Vxtos || x| 2 il zmrz| o = [ CEEN [ W EEAE || Al EEE 96
4 =] 2 2 e A EEXE 4 [k 2 KEERZE 4 [ £ 1 4 [ x]2 4 k] 2
5 (£ 3 3 et | Pq ER- N | IR ES 1 wrazae|[ 5 [B]3 5 (k]2 3EEKH 5 [ K] 2 ES 5
6 | B 1 1 7K siagagzer] | 6 [£] 2 6 [A]2 6 | K 1 e | T ES 1] ARAG REFEE
7 A2 2 BELGA R X ES E 7 x| 2 wez w7 21 2 7% 1 AR 57
8 | k] 2 2 ? RER & saanntennz] | 8 | B 1 8 [ k]2 FHIEE E 8 |£] 3
9 |k 1 1 v + 9 1Al 2 9 [ X 1 9| H 1 9| A] 3 RERED
10| K| 2 2 EERFIER B 0] k] 2 EA P AERE 10[H]2 wonmmazszzl | 10 | B 1 AR E ) ETE
11 £] 2 2 A SR | TREd sosansaesoomsanz] | 11 | £ 3 11 ] K 1 EZEZE0H] 11| X 1 AREEEFER)
12/ ] 3 3 23 A i) Pq 2agprasE] | 12| K 1 12| B 1 12 ] K 1 X S | IFAEN E —fi AEERE] 45
13| H 1 1 JK p 2&ERA 13| £ ] 2 svavnmgimgE] | 13| B 1 3 BRADH 13 | K 1 EEITNES | BRI ES 1 AR R B)|
14 B 3 3 AR—YDH X 14 £ 3 14 k]2 14| £ 1 3EEKRE 14 £ 1 AR EEFEE) =5
15 k] 2 2 ERRER & FEEMRE 15| B 1 15 k]2 15| + 1 5] ] 3
16 | K] 2 2 EISEBOE * 6| A] 2 HAES K e | EEE 1 s8] 3 35
17 & 1 1 EISERIA B 17 & 2 17 £]2 171 B 1 171 8B 1 ARHERBOBEH
18l£] 2 2 ? ETIR J5| 2EAERK |08 ] K] 2 BESE 18 x]3 18 | & 1 p paERER| 18| X 1 BARME RELEA
19]+] 3 3 \4 X 19| K| 2 1918 1 19 | JK 1 19 K| 2 REHAE
20 B8] 38 8 BERGERE K wnmam 20 £ 1 20|l A]2 1 —ELREE |20 &) 3 EH0H B
21 B 2 2 X 21 £ 3 1 —FERE 21 [ £] 2 VBEZERKH 1 —FB#H
22 | k] 2 2 % 22| B 1 22 [ k]2 2 X3 2| x]3 141
23| &1 3 3 EPT—— T+ HRE DA 1 —FERH 23 | & 1 e e e | | 23 | B 1 XEHAER |23 B 1
24 | & 1 1 [ ESE H 24 k]2 wEXO 124 2] 2 mESE 124 A3 REKA 24 A 3 BT BER EZ
25| €1 2 2 EBEHT RN 24 —ﬁ,.‘gﬁa 25| k1 3 25| 1 3 25| k] 2 Fzhex masEjl 25| k] 3
26 [ £[ 3 3 pq 26 | & 1 26 [ 5 1 26 [ K| 2 TR |26 [ K] 3 FAERTA P 92
27| B 1 1 7 BEEEHC| 27| £] 3 271 A2 27| K 1 TAMEA [ 27| X 1 EEBIZH
1 1 —FiR&H X 2mmkER] [ 28 | £] 3 28 | k]2 p sxxaxsa|[ 28 £ 2 anrsenz] [ 28 | = | 3
29 [ k2 2 By 2xmliREE|l 29[ B 1 29 [ k]2 iR 29[x] 3
30| K] 2 2 ERRGAREROYY Ed 30| A 1 EA# B 30| K] 2 30[ 8 1
EIN S ] ] [ 311X il e 3] & ] SRR ARER O ot 311AL3
BiE] fa ST ES STE = ] BiE] = ‘ =i ES STE =
CEHREE 6 6 CEHREH 0 70 CEHREE T i SEHRERTT 0 EEHWEE: T 0 CEEREH 0 0
KEREET 3 3 KEREE T 6 8 KEREE TS i KERERT 4 0 KEARES 4 0 AEREE T 2 0
FHEBRMTS: 21 21 FHEBRMTYS: 21 21 EHEBEMTS: 2.1 2.0 TFREDHEMTES: 2.0 #DIV/0! FREDEMTES: 2.1 #DIV/0! SEHEBEETY: 25 #DIV/0!
KA EHEMES] 4.0 40 KA EERES 4.7 47 KA EHEMEL 3.0 #DIV/0! KEEDEETS. 3.0 #DIV/0! KEEBEENTS 3.0 #DIV/0! KEEBEETY 3.0 #DIV/0!



